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@® x*-25=(x+5)(x-5)

@ x> +2x-8=(x+4)(x-2)
® 2% +Tx+3 = (2x+ 1)(x+3)
@ 4x% 4+ 4x-15= (x—3)(4x +5)

® x?-14x+49 = (x-7)?



@O x? 4+ 14x+49 = (x = 7)?
@ 16x* — 48x + 36 = (4x — 6)?
® 9x% - 16 = (9x —4)(x + 4)
@ x2-2x-15=(x+5)(x-3)

® 5x2—14x-3 = (5bx+1)(x = 3)
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6. xoll WOl 22 +ax+4 9 ApTFx+1 A W, a2 27

D 1 ® 2 3 3 @ 4 B 5



7. a=175 b=0.25<Y 4, a® - 6ab + 92 9] 3t& F5}H?

D 1 ® 2 3 3 @ 4 B 5



8. x=-14+ V24 o, +2+2x+ 19 G F5}oiz}.
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9.  4x?-5xy-6y? 2 (ax+by)(cx+dy) EZ Aeol5HA-Z o, ac - bd
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10. 2x® +5x-12 = (2x+a)(x+b) & W=E5h=a, b o 5t x2 + (a+

b)x +ab 5 ATl 3
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@ (x-3)(x+4) ® (x-2)(x+6)



